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Please the following the differential equation: (20%)

1) Efsn—y=—— (105
x+1

(2) x(x-1Dy"+(Bx-2)y'+y=0 (10%)
Using the Laplace transform to solve the initial value problem (20%)

B +(4t+2)y' —4y=0; y(0)=2
(1) Use Gauss elimination to solve the following system equation (10 %)

x +x,—lx;=-3
2x,+3x, +5x, =7
x, —2x, +3x; =—11
1 2 3

(2) Find the eigenvalue and corresponding eigenvector of 4={0 5 6|
g Q =i

(10 %)

(1)Use Green’s theorem to evaluate the given line integral, (!)C (x+ yH)dx+(2x" — y)dy,

where C is the boundary of the region determined by the graphs ofy=x", y=4.(10 %)
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(2) Use Stokes’ theorem to evaluate the integral SBFF .d7 ; where F =y -x"j+2'k;

C is the trace of the cylinder x* + y* =lin the plane x+y+z=1.(10 %)

5. Please solve the following PDE. ( 20 points)

Ou(x,t) o u(x,1)
PDE o’ ox’

BC u(0,0)=u(x,t)=0, t>0, >0

IC u(x,0)=lx(ﬂ2—x2), L] =0, O<x<x
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